Chapter 4 – Laws of Motion




p.1
I. Notes and Example Problems
Weight vs Mass (w = mg)           Note: 
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   [image: image2.png]Astronaut Edwin E. Aldrin,
Jr., walking on the Moon after
the Apollo 11 lunar landing.
The weight of this astronaut
on the Moon is less than it is
on Earth, but his mass remains
the same. (Courtesy of NASA)



          [image: image3.png]Figure 4.3
The only force acting on an
object in free fall is the
weight, w. Newton’s second
law applied in the vertical di-
rection gives w = mg,




We’ll use ‘T’ for tension (the force of a rope’s pull on an object).

We’ll use ‘n’ for the normal force (contact force perpendicular to a surface). Also Fn 
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Figure 4.6

(a) A block being pulled to the
right on a smooth surface.

(b) The free-body diagram
that represents the external
forces on the block.
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Ex 1/ Above, we have an object in equilibrium.


Find the tension in all three ropes given:


w = 100N and notice the 3-4-5 right triangles!


Use � EMBED Equation.DSMT4  ���
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